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Question Number : 1 Question Id : 615475617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154752401, 1
6154752402, 2
£1547524032 2
6154752404, 4

Question Number : 1 Question Id : 615475617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752401, 1
6154752402, 2
6154752403 3
6154752404 4

Question Number : 2 Question Id : 615475618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154752405 1
6154752406 2
E154752407 3
6154752408 4

Question Number : 2 Question Id : 615475618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752405 1
6154752406, 2
6154752407, 3
£154752408. 4

Question Number : 3 Question Id : 615475619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

6154752409, 1
6154752410, 2
6154752411, 3
6154752412 4



Question Number : 3 Question Id : 615475619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (i1) 3 (iv)
Options:
6154752409, 1
6154752410, 2

E154752411 3
B154r5241% 4

Question Number : 4 Question Id : 615475620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

6154752413 1
6154752414 2
6154752415 3
6154752416, 4

Question Number : 4 Question Id : 615475620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154752413 1
6154752414 2
6154752415 3
6154752416, 4

Question Number : 5 Question Id : 615475621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr
descriptive features. Match the two sets

Set I Set 11
(Evaluation system) (Descriptive features)
(a) Formative evaluation (11 Comparing the students’ performance

with that of others

(b)  Summative evaluation (1) Indicating standards of mastery
(c) Norm-referenced testing (111) Diagnosing students’ problems
(d) Crterion-referenced testing (1v) Identifving scope for improvement

(v) Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

B154r52417. 1
6154752418 2
6154752419 3
6154752420 4

Question Number : 5 Question Id : 615475621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

6154752417 1
£154752418. 2
6154752419, 2
6154752420, 4

Question Number : 6 Question Id : 615475622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547524211
6154752422 2
6154752423 3
154752424 4

Question Number : 6 Question Id : 615475622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154752421, 1
6154752452, 2

6154752422 3
E154752424 4

Question Number : 7 Question Id : 615475623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

6154752425 1
6154752426 2
E154752427. 3
E154752428. 4

Question Number : 7 Question Id : 615475623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154752425 1
B154r52426 2
6154752427 3
6154752428 4

Question Number : 8 Question Id : 615475624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E154752429 1
E154752430 2
E154752421. 3
B154752432 4

Question Number : 8 Question Id : 615475624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547524259. 1
B154752430 2
B154r52431. 3
6154752432 4

Question Number : 9 Question Id : 615475625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

BE154752433 1
B154752434 2
6154752435 3
E154752436. 4

Question Number : 9 Question Id : 615475625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



59 Tl g § Hed F Uy vd it B gufad 90 § 3T 96 g 21 38 UF IS B
(1) =i = AR 4 20 AR g
(2y  Ineeft = A sEEr =
(3) =g 99 Tegd o sivaneli 1 Femar =
(4) " A gy 9 e 9 Siaagdr & A99E #)
Options:
6154752433, 1
6154752434, 2

6154752435 3
61547524356 4

Question Number : 10 Question Id : 615475626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

B154r52437. 1
6154752438 2
6154752439 3
E154752440 4

Question Number : 10 Question Id : 615475626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154752437. 1
6154752438 2
E154752439. 3
E154752440 4

Question Number : 11 Question Id : 615475627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154752441. 1
E154r52442 2
6154752443 3
6154752444 4

Question Number : 11 Question Id : 615475627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547524411
6154752442 2
6154752442 3
E154752444 4

Question Number : 12 Question Id : 615475628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E154752445 1
E15475244E8 2
B154r52447 3
6154752445 4

Question Number : 12 Question Id : 615475628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154752445 1



E15475244E8 2
B154r52447 3
6154752445 4

Question Number : 13 Question Id : 615475629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547524459 1
6154752450 2
E154752451. 3
BE154752452. 4

Question Number : 13 Question Id : 615475629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752449 1
6154752450 2
E154752451. 3
E154752452. 4

Question Number : 14 Question Id : 615475630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

6154752453 1
6154752454 2
£154752455 2
6154752456, 4

Question Number : 14 Question Id : 615475630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
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Options:

E154752453. 1
E154752454 2
B154752455 3
B154r52456. 4

Question Number : 15 Question Id : 615475631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



BE154752457. 1
6154752458 2
61547524559 3
6154752460 4

Question Number : 15 Question Id : 615475631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752457 1
6154752458, 2
6154752459 3
6154752460, 4

Question Number : 16 Question Id : 615475632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E154752461. 1
6154752462 2
E154752463. 3
E154752464. 4

Question Number : 16 Question Id : 615475632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6,14

(3) 15, 35 (4) 24, 56
Options:
6154752461,
6154752462,

6154752463,
E154752464,

B R

Question Number : 17 Question Id : 615475633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E154752465. 1
B154r52486 2
E154752467. 3
6154752468 4

Question Number : 17 Question Id : 615475633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafeAfigd sIgFa 0 X 2 -
3.8,18, 38, X, _..

(1) 78 2y 80

(3) 76 (4) 74
Options:
6154752465,
6154752466,

E154752467.
E154752468.

e IR

Question Number : 18 Question Id : 615475634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

E154752469 1
6154752470 2
E154752471. 3
E154752472 4

Question Number : 18 Question Id : 615475634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

6154752469 1
6154752470 2
E154752471. 3
B154752472 4

Question Number : 19 Question Id : 615475635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE154752473. 1
B154r52474 2
6154752475 3
E154752476. 4

Question Number : 19 Question Id : 615475635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE154752473. 1
B154r52474 2
6154752475 3
E154752476. 4

Question Number : 20 Question Id : 615475636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154r52477. 1
6154752478 2
6154752479 3
E154752480. 4

Question Number : 20 Question Id : 615475636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154r52477. 1
6154752478 2
6154752479 3
E154752480 4

Question Number : 21 Question Id : 615475637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547524811
6154752482 2
6154752482 3
E154752484, 4

Question Number : 21 Question Id : 615475637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E154752481. 1
E154752482 2
BE154752483. 3
E154r52484. 4

Question Number : 22 Question Id : 615475638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154752485. 1
E154752486 2
B154r52487. 3
6154752488, 4

Question Number : 22 Question Id : 615475638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154752485. 1
E154r52486. 2
E154752487. 3
6154752488, 4

Question Number : 23 Question Id : 615475639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547524859. 1
B154r52490 2
6154752491 3
6154752432 4

Question Number : 23 Question Id : 615475639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTET AT A5 HrEE AN UA SIEE Fi i § Feiatad § O e g O getag 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154752489. 1
E154752480 2
E154752491 3
B154752492 4

Question Number : 24 Question Id : 615475640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

6154752453 1
6154752494 2
E154752495 3
E154752496, 4

Question Number : 24 Question Id : 615475640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27

(1) o (2)  TEEm
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Options:

6154752493 1
6154752494 2
£154752495 2
6154752496, 4

Question Number : 25 Question Id : 615475641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

E154752457. 1
6154752498 2
E154752499 3
E154752500. 4

Question Number : 25 Question Id : 615475641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

B154r52457. 1
6154752488 2
6154752499 3
6154752500, 4

Sub-Section Number: 2
Sub-Section 1d: 61547530
Question Shuffling Allowed : Yes

Question Id : 615475642 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 615475643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154752501. 1
B154752502 2
B154752503. 3
6154752504, 4

Question Number : 27 Question Id : 615475644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154752505. 1
B154752506 2
E154752507. 3
6154752508, 4

Question Number : 28 Question Id : 615475645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

BE154752505. 1
61547525100 2
6154752511 3
E15475251% 4

Question Number : 29 Question Id : 615475646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547525121
E154752514 2
E154752515 3
B154752516. 4

Question Number : 30 Question Id : 615475647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

BE154752517. 1
BE154752518. 2
6154752519 3
G154752520. 4

Question Id : 615475642 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 615475643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547525011
G154752502 2
E154752503. 3
E154752504, 4

Question Number : 27 Question Id : 615475644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154752505. 1
B154752506 2
E154752507. 3
6154752508, 4

Question Number : 28 Question Id : 615475645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

BE154752505. 1
61547525100 2
6154752511 3
E15475251% 4

Question Number : 29 Question Id : 615475646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547525121
E154752514 2
E154752515 3
B154752516. 4

Question Number : 30 Question Id : 615475647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154752517. 1
BE154752518. 2
6154752519 3
G154752520. 4

Sub-Section Number: 3
Sub-Section 1d: 61547531
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 615475648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

6154752521 1
6154752522 2
6154752523 3
6154752524 4

Question Number : 31 Question Id : 615475648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

61547525211
6154752522, 2
6154752523 2
6154752524 4

Question Number : 32 Question Id : 615475649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
6154752525 1

E154752526. 2
B154752527. 3
B154r52528. 4

Question Number : 32 Question Id : 615475649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

6154752525 1
6154752526 2
6154752527 3
£154752528. 4

Question Number : 33 Question Id : 615475650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
6154752529 1



E154752530 2
6154752531 3
6154752532 4

Question Number : 33 Question Id : 615475650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

eTeAiad H H H @1 -9 & A29 4 31079 F 27
(1) =8 HU Jedeh T 91 70 OF 0 2

(2) I FATEd Houil 1 994 § T @1 O5dl 2
(3) STl O A AT O 2

(4)  T-TA 94 ° ST 19 MG 267 2

Options:

6154752529 1
£154752520 2
£154752521. 2
6154752532, 4

Question Number : 34 Question Id : 615475651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

List I Last IT
(E-1nitiatives) (Descriptions)
{a) Vidwan (1) Repository for full-text thesis. e-books

and journals

(b) Digilocker (1) Education portal to facilitate learning

(¢) Sakshat (i11) Database of leading  scientists/
researchers

(d) Shodh Ganga (iv) Platform for 1ssuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11). (e)-(iv). (d)-(11)
(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(m). (d)-(1v)

Options:
6154752523 1



E154752534 2
6154752535 3
B1547525356. 4

Question Number : 34 Question Id : 615475651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

E154752522 1
6154752524 2
6154752535 2
6154752536 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 615475652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
E154752537. 1



E154752538. 2
6154752539 3
6154752540, 4

Question Number : 35 Question Id : 615475652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

6154752537 1
£154752538. 2
£154752529 2
5154752540, 4

Question Number : 36 Question Id : 615475653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154752541 1
6154752542 2
6154752543 3
6154752544 4

Question Number : 36 Question Id : 615475653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) I TETEE B

Options:
£154752541 1

E154752542 2
E154752543 3
B154752544 4

Question Number : 37 Question Id : 615475654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E154752545. 1
E154752546 2
6154752547 3
6154752548 4

Question Number : 37 Question Id : 615475654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2

2.

(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

5154752545 1
6154752546 2
6154752547 3
6154752548 4

Question Number : 38 Question Id : 615475655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

BE1547525459. 1
6154752550 2
6154752551 3
E154752552. 4

Question Number : 38 Question Id : 615475655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

6154752549 1
E154752550 2
E154752551. 3



E154752552. 4

Question Number : 39 Question Id : 615475656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

BE154752553. 1
B154752554 2
6154752555 3
6154752556 4

Question Number : 39 Question Id : 615475656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27

(1)  @FAsa § 09 2138 761 % T550 &1 R

(2) Tl TE @9 E UE 2 1Y 3eE W O [ w7

(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

6154752553 1
6154752554 2
6154752555 3
6154752556 4

Question Number : 40 Question Id : 615475657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

B154752557. 1
6154752558 2
6154752559 3
E154752560. 4



Question Number : 40 Question Id : 615475657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN, AT F HA0 7d TavasaTdt AEshar 3 FaETE F WicHned #49 gd J U 2 0 A § 3
8 fawg = vfa faga m=Ew 3w (2019) 5 39@ w9 e
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e

(3) A WgHW #I THA™ (4) ¥ =

Options:

BE154752557. 1
6154752558 2
6154752559 3
E154752560. 4

Question Number : 41 Question Id : 615475658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154752561. 1
B154r52562 2
B154752563. 3
E154752564. 4

Question Number : 41 Question Id : 615475658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

BE154752561. 1
B154r52562 2
E154752563. 3
6154752564 4

Question Number : 42 Question Id : 615475659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

BE154752565. 1
6154752566, 2
E154752567. 3
6154752568 4

Question Number : 42 Question Id : 615475659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

6154752565 1
E154752566. 2
E154752567. 3
E154752568. 4

Question Number : 43 Question Id : 615475660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154752569 1
E154752570 2
154752571 2
154752572 4

Question Number : 43 Question Id : 615475660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09s (3 o1 =18)

(3)  OWAE T9EE 9 (AW i AE)

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
£154752569, 1
£154752570. 2

6154752571 3
E154752572 4

Question Number : 44 Question Id : 615475661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154752573 1

6154752574 2

6154752575 3

E154752576 4

Question Number : 44 Question Id : 615475661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ¥ forem fifd-1968
(2) e foren fifa-19386
(3)  WRA H e faew i wfasy gfe, qoemn dw s wfde-2012
(4) T foiEm Hid-2019 F1 9
Options:
6154752573, 1
E154752574 2

E154752575 3
B154752576. 4

Question Number : 45 Question Id : 615475662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E154752577. 1
E154752578 2
B1547525759. 3
E154752580. 4

Question Number : 45 Question Id : 615475662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i)  TafEmEE 93 ° gan
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(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

E154752577. 1
6154752578 2
6154752579 3
E154752580. 4

Sub-Section Number: 4
Sub-Section Id: 61547532
Question Shuffling Allowed : Yes

Question Id : 615475663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 615475664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154752581. 1
B154752582. 2
6154752583 3
6154752584 4

Question Number : 47 Question Id : 615475665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154752585, 1
6154752586, 2
6154752587, 3
E154752588. 4

Question Number : 48 Question Id : 615475666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

E154752589. 1
6154752530 2
E1547525491. 3
E154752592. 4

Question Number : 49 Question Id : 615475667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E154752583. 1
E154752594 2
B154752595 3
B154752596, 4



Question Number : 50 Question Id : 615475668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

61547525971

&154752598 2

6154752599 3

154752500 4

Question Id : 615475663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50
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Sub questions

Question Number : 46 Question Id : 615475664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

51547525811
6154752582 2
6154752582 3
E154752584. 4



Question Number : 47 Question Id : 615475665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

6154752585 1
E154752586. 2
E154752587. 3
E154752588. 4

Question Number : 48 Question Id : 615475666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

BE154752589. 1
B154752590 2
6154752531 3
E154752532 4

Question Number : 49 Question Id : 615475667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

6154752592 1
E1547525894 2
E154752595 3
B154752596. 4

Question Number : 50 Question Id : 615475668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHHEI GATEAH
(4) P ACFEA F @A T F FE
Options:
6154752597 1
6154752598, 2

6154752599 3
6154752600, 4

PART II santali

Section Id : 61547510
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547533
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 615475669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

H. H. Risley 21 U2l ®[ATF [d4F T1d HH-T d01 &2 ATHE] 7

(1) 16 (2) 340
(3) 100 (4) 300
Options:

61547526011
6154752602 2
E154752603. 3
E154752604, 4

Question Number : 51 Question Id : 615475669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H. H. Risley &1 481 ®@T® [d10F T1d H%-T G0 @2l ATHE] 7

(1) 16 (2) 340
(3) 100 (4) 300
Options:

61547526011
6154752602 2
E154752603. 3
E154752604, 4

Question Number : 52 Question Id : 615475670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ZIETF 991 Toh1d I2 FamE 5l A= TS deF[ 7

(1)  9FgiE me (2) EBIEE M= S
(3) TN ATATEE TE (4) T FIE ME
Options:

51547526051
E15475Z2606 2
6154752607, 3
E154752608. 4

Question Number : 52 Question Id : 615475670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ZETF 91 =T T2 FEE ol I TS desE 7

(1) SHEEIT M (2) B TS ME
(3) W S mE (4) H FIE ME
Options:

B154752605. 1
E15475ZE06 2
E15475Z2607. 3
6154752608 4

Question Number : 53 Question Id : 615475671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SR 1 UH AT TE0E 1 G50 ARG FEIH -1 =7

=

(1) HIEE! (2) dE-93
(3) LIRS (4) HEH
Options:

E154752605 1



E154752610 2
E154r52611. 3
B154r52681% 4

Question Number : 53 Question Id : 615475671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AN 1 UG AT TG ® G2l ARG wEIa-TH

-

(1) el (2) HE-HE
(3) EEECIE] (4) TEE
Options:

6154752609 1
E154752610 2
E154752611. 3
B154r526812 4

Question Number : 54 Question Id : 615475672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

212 BUETE T&99dT o=h1d sIeamarE: 2l A 2128 FH17

(1 g (2) B
(3) h[9<1 T (4) 4YRd
Options:

E154752813. 1
E154r752614 2
6154752815 3
G154752616. 4

Question Number : 54 Question Id : 615475672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

212 BUETE 901 o= SieamarE: 2l R 2109 FH17

(1y  TaE (2) B
(3) F[91 T (4) YRl

Options:

6154752613 1
6154752614 2
£154752615 2
E154752E16. 4

Question Number : 55 Question Id : 615475673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) & Fen (2) T SEER
(3)  Hd "4FER (4) @MIZ-¥EER
Options:

BE154752617. 1
6154752818 2
6154752619 3
6154752620 4

Question Number : 55 Question Id : 615475673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hggds 1 3HEal | OEE O 0 2 9d w7

(1)  Tid 9aer (2) ET SdEn
(3) U §FER (4) FEIE-SEER
Options:

BE154752617. 1
6154752818 2
6154752619 3
E154752620. 4

Question Number : 56 Question Id : 615475674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3T Ofa= gogn: g1 3= TEH q‘ﬁ U (e AT 7

(1) =T =9 (2)  9f @rfsm
(3)  TEI AN 910 (4) STEIAT ST
Options:

61547526211
E154752622 2
E154752823. 3
BE154r52624. 4

Question Number : 56 Question Id : 615475674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  EE AW 91§ (4) SR FEE
Options:

BE154752621. 1



B154752622 2
B154r52823 3
B154r52824. 4

Question Number : 57 Question Id : 615475675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

"A language 1s a system of arbitrary vobal symbols by means of which a social group
operates’.

Uampy - UEdl 9eRE Ere el [ J1HT 2 AT FE1 908 2dd Siddid 218 TEE |

— Il AEE E] S EE Y

(1) Henry Sweet (2) Groce
(3) Block and Trager (4) A. H. Gardiner
Options:

E154752625. 1
E154752626 2
E154752827. 3
BE154752628. 4

Question Number : 57 Question Id : 615475675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
"A language 15 a system of arbitrary vobal symbols by means of which a social group
operates’.

-

Tarey - OEd 9EAE AEIE =Rl W 3 200 OaT FET S8 2idd Higaid gigsl iaEr |

~ FrEl AT AL AHEE FE

(1) Henrv Sweet (2) Groce
(3) Block and Trager (4) A H. Gardiner
Options:

B154r52625 1
E154752626 2
E154752627. 3
E154752828. 4

Question Number : 58 Question Id : 615475676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) FiohH (2) THE
(3)  Ig (4) HES
Options:

B154752629. 1



E154752630 2
B154r52631. 3
B15475263%. 4

Question Number : 58 Question Id : 615475676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F20 T Ffed—Fied 91 =@ § =9 ®E17 909 0 9 291 31 arsw 2EE

(1) Fa5H (2) SMHE
(3) T2 (4) HEI
Options:

BE154752629. 1
B154752630. 2
E154r52631. 3
E154752632. 4

Question Number : 59 Question Id : 615475677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ZEAERE 3741 1 AEE AT 8wy 21 Gare T0THT 1 =ied e ?

1) T (2) TeId =T
(38)  HMETH (4) BEET
Options:

BE154752633. 1
6154752634 2
6154752635 3
E1547526356. 4

Question Number : 59 Question Id : 615475677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  FFE (2) Te9d =T
(3)  HEEH (4) BEET
Options:

E154752633. 1
E154752634 2
6154752635 3
E154752636. 4

Question Number : 60 Question Id : 615475678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  HEE 9 1 (2) FEE 9EE T
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Options:

6154752637 1
E154752638. 2
E154752639. 3
B154r52640. 4

Question Number : 60 Question Id : 615475678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

VOTEg armE | &1 3T R R A7

(1)  HTE 9 1 (2) = 9 T
(3)  HIEEE T (4) AW 9 T
Options:

BE154752637. 1
B154752638. 2
E154752639 3
6154752640 4

Question Number : 61 Question Id : 615475679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =TT (2) 3d9d
(3)  fewmien (4) =T
Options:

51547526411
6154752642 2
6154752643 3
6154752644 4

Question Number : 61 Question Id : 615475679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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BE154752641. 1
B154r52642 2
6154752643 3
E154752644 4

Question Number : 62 Question Id : 615475680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TRTEA 5 THIS 21 < ] HaThar ?

(1) el 2 (2) °F T
(3) Tad == (4) ¢ ZER
Options:

6154752645 1
G15475264E 2
E154752647. 3
E154752645. 4

Question Number : 62 Question Id : 615475680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 9RI=Ea 5 TETS 210 =9d 1 JarEar 7

(1) =Tl 2= (2) 919 T
(3 Tad =z (4) T2 ZTRI
Options:

6154752645 1
E15475264E 2
E154752847. 3
E154752645. 4

Question Number : 63 Question Id : 615475681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154752645 1
6154752650 2
6154752651 3
E154752E52. 4

Question Number : 63 Question Id : 615475681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ATER AT 811 (2) EIOHA Bl
(3) Tl 3THTH e (4) FER 3R &= = 3
Options:

5154752645 1
6154752650 2
6154752651 3
E154752652. 4

Question Number : 64 Question Id : 615475682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) forarer & el (2) 341 TdS
(3) T (4) Tom fofea faf=
Options:

BE154752653. 1
6154752654 2
6154752655 3
6154752656, 4

Question Number : 64 Question Id : 615475682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154752653. 1
6154752654 2
6154752655 3
E154752656. 4

Question Number : 65 Question Id : 615475683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 39 (2) g
(3) T (4) Tatraram
Options:

E154752657. 1
6154752658 2
E154752659. 3
BE154752660. 4

Question Number : 65 Question Id : 615475683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  3e9e (2) T=<g
(3) = (4) Tararamm
Options:

E154752857. 1
E154752658. 2
B154752659 3
E15475Z660. 4

Question Number : 66 Question Id : 615475684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 1909 (2) 19210
(3) 1903 (4) 1922
Options:

E154752661. 1
E154752E62. 2
E154752663. 3
E154752664, 4

Question Number : 66 Question Id : 615475684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1909 (2) 1910
(3) 1903 (4) 1922
Options:

E154752661. 1
E15475Z662. 2
E154752662. 3
E154752664, 4

Question Number : 67 Question Id : 615475685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(1) (a) AT (h) (2)  (c) X (a)
(3) (b) W (c) (4} (a) AW (d)
Options:

B154752773. 1
E154752774 2
6154752775 3
B154752776. 4
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(b) G et - FEAT oI FEAT 21 91%
(c)  THIE &= - EHEE dFE W

(d) TIE FF = 2T 71 A AFEM
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(1) (a) AT (b) (2) (c) 9 (a)
(3) (b) W (c) (4) (a) AT (d)
Options:

E154752773. 1
6154752774 2
E154752775 3
B154752776. 4
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(c) =d-g YHTE HiEt = AT T

@ U - TS 3MEE 39E
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(1) (a) X (b) (2) (b)) ¥ E (¢)
(3) {c) AW (d) (4) (d) FE (b)
Options:

B154752777. 1
B154r52778 2
G154752779. 3
E154752780. 4
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(b) el AEE - HAEE &

{c) ELE JHIg B * ATAT - T
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e

(1) (a) T (b) (2) (b)) ¥X (c)
(3) (c) #AW (d) (4) (d) #AW (b)
Options:

B154752777. 1
B154752778 2
B154752779. 3
B154r52780. 4
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(a)  ©IF &R

(b) 3

(c) a[ﬂ:"ﬂ;:i

(d) TdTE
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(1) (a) X (b) (2) (b) ¥R (c)

(3) (c) #X (d) (4) (d) X (a)
Options:

BE154752781. 1
B154r52782 2
E154752783. 3
E154752784. 4
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(a)  ©9 TER

(b) 3He

c) ﬁH-a_-ji:_!

(d)y  HaT®
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(1) (a) T (b) (2) (b) 3 (c)

(3) (c) IX (d) (4) (d) {E (a)
Options:

E154752781. 1
B154752782. 2
BE154752783. 3
E154r52784. 4
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(a)  HAHT FEA - A

(b) IR = S - e

() T = T - TPl
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(1) (a) FF (b) (2) (b)) IE ()
(3) (c) AW (d) (4) (d) X (a)
Options:

BE154752785. 1
B154752786. 2
B154r52787. 3
6154752788 4
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(a)  HEA FEE - EM s

by  Tw fog - foafeq ses

(€) TV == g5 - TIPS

(d) TR 9= 7 - TEd @ @

E T

(1) (a) I (b) (2) (h) #AW (c)
(3) (c) IR (d) (4) (d) AW (a)
Options:

E154752785. 1
E154752786. 2
BE154752787. 3
BE154752788. 4
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(a)  HETCHT TE
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(¢)  HAlFhel TRHET
(d)  IEH AE 97 - 6
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(1) (a) AW (b) (2) (b) 3 (c)
(3) (c) AW (d) (4) (b)) ¥X (d)
Options:

6154752789 1
E154752730 2
BE154r52791. 3
B154r52792 4
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(a)  TETcHT ME

(b)  HTA

(c)  HTfeel AHATA
(d)  HEH AE 97 - 6

e :

(1) (a) AW (h) (2)  (b) 3 E (c)
(3) (c) AR (d) (4) (b)) HW (d)
Options:

B154r527859. 1
6154752730 2
6154752731 3
E154752792 4
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(a) T Geat F
(b)  UZH H=H 9
(c) EEEREC!

(d)  =vEl =
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(1) (a) 3R (b) (2) (b) 3R (c)

(3) (c) I (d) (4) (a) AW (d)
Options:

B154r52753. 1
6154752734 2
E154752735 3
E1547527396. 4
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(a) T gt 9T

(b)  UGH A "=

(c) gH= A

(d)  =vel =

(1) (a) I (b) (2) (b) HX (c)

(3) (c) A F (d) (4} (a) AW (d)
Options:

BE154752793. 1
6154752794 2
E154752735 3
E1547527396. 4
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(a)  HE T - 37fEn a4y

(b)  F THH - I HEE A TEEE

(c) =Y ONS - 3| 394 g TEE

(d) =L F IS - E AT e
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(1) (a) @F (b) (2) (b) ¥ (c)

(3) (c) AT (d) (4) (d) ¥ (a)
Options:

E154752737. 1
6154752798 2
E1547527959 3
E154752800. 4
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(a)  TIE & - 3qTfen ®EwEE 9T

(b) = M - WEEE " O TEEE

(c) =Y O - 3F 3 gAE EE

d) = FIEFHIE - W AW EE
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(1) (a) AW (b) (2) (b) W (e}

(3) (c) AR (d) (4) (d) ¥ (a)
Options:

E154752797. 1
E154752798. 2
B154r527959 3
E154752500. 4
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(1) (a)3” (b) (2) (b) ¥ W (c)
(3) (c) AW (d) (4) (d) #FE (a)
Options:

E154752801. 1
E154752802 2
B154752803. 3
E1547525804, 4
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(a) T 9HEEY - g

{b} ﬂ.é-. - I_lr-l:‘.[r_ = 7‘1‘1741'[ Fﬂ-T

(c)  Tdig gEa G

(d) =Ed 95 gd - HEEE

hd -

(1) (a) AT (b) (2) (b) ¥X (c)
(3) (c) FR (d) (4) (d) 91X (a)
Options:

61547525011
E15475280z2 2
E154752803. 3
E154752804. 4
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(a)  drdrE S | EE1L

{b} 2] Bie 5 ala:F

(c) TR - EEIEE]

{dJ + Uﬁ[? = QiVals

(1) (a) 37X (b) (2)  (b) I (c)
(3) (c) I (d) (4y (d) FW (a)
Options:

E154752805. 1
6154752806, 2
E154752807. 3
E1547525808. 4
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(a) GUEIE - GIECH

(b) EIEE i EIEEY

(c) T - LEIEEIl

(d) EALEIES - EILGIES
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(1) (a) X (b) (2) (b) ¥E (c)
(3) (c) 3R (d) (4) (d) X (a)
Options:

E154752805. 1
E154752806, 2
B154752807. 3
E154752808. 4
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(a) i = EIREI

(by == - RIEEL

(c) FHT - EHET

(d) EALEGES = EILEST

b

(1) (a) AT (b) (2) (a) {X (c)

(3) (b) X (d) (4) (c) AW (d)
Options:

E1547525809. 1
E154752810. 2
61547525811 3
E154752812 4
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(a) qai, = EIRE]

(b) RIEE] - Hid=l

(c) EAEEI] = LE IR LI

(d) =h[US[2 = EILET

b

(1) (a) AT (b) (2) (a) {X (c)

(3) (b) #X (d) (4) (c) JAX (d)
Options:

6154752809 1
6154752810 2
E154752811. 3
E154752812 4
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(a) (S AW A I T

(b)  HHH UTH T HE

(c) Fle] T =T

(d) FH R I FHIT

I A

(1) (c) AR (d) (2)  (b) IE (d)
(3) (a) AW (b) (4) (a) W (d)
Options:

BE1547525813. 1
61547525814 2
6154752815 3
6154752816 4
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(a) 3 AW A = FET

(b) T 9TH T HEl

(c) o] HIL ol

(d)  FHI-FEE E=E

e .

(1) (c) AR (d) (2)  (b) 3TE (d)
(3) (a) AW (b) (4) (a) AW (d)
Options:

E154752813. 1
E1547525814 2
61547525815 3
E154752816. 4
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(a) EIEEEIE

(b)  EH@TEAT

(c) T4

'[d] ]"\_JT El- q]

e :

(1) (a) X (b) (2)  (b) ¥ E (c)
(3) (e) X (d) (4) (d) @97 (a)
Options:

E1547525817. 1
6154752818 2
61547525819 3
E154752820. 4

Question Number : 105 Question Id : 615475723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GATeAh ] ATl 1 AT aRAT AUTE Fhe] TS 17

(a) CIRE LR

(b)  ErTErE

(c) T4

'[d] ]"\_JT El- ‘:”

e :

(1) () 9 (b) (2)  (b) ¥R (e)
(3) (c) 3T (d) (4) (d) 97 (a)
Options:

615475258171
6154752818 2
E154752819. 3
E154752820. 4

Question Number : 106 Question Id : 615475724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR 1 BB T G g9 A 9 39 U9 AFRE S 1994 T T ST HEE AL, 3E Fe 1
e S | |

(a) T WA - AW i

(b)  Ugad HHIVE] - TR HEE

(c) EEREEZ I - TE A

(d) =T Eiger = - OAT=] =
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(1) (a) AR (b) (2) (b)) AR ()
(3) (c) X (d) (4) (a) JAW (d)
Options:

E154752821. 1
BE154752822 2
B154752823. 3
G1547525824. 4

Question Number : 106 Question Id : 615475724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AR 1 2 U G g9 AR 94 39 U9 AR FE@id 1994 T T S e AL, SE %2 1
e 99E 1 |

(a) T A - FEE I

(b)  Tged HEIVEI - T A

(c)  Toia Tefrm s - IE A

(d) &= gEer = - T A

A

(1) (a) AR (b) (2) (b)) AR (¢)

(3) (c) AR (d) (4) (a) T (d)
Options:

61547528211
6154752822 2
E154752823. 3
E154752824. 4
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(1) (a) AT (b) (2) (a) ¥ E (c)
(3) (c) AW (d) (4) (d) #F (b)
Options:

615475258251
6154752826 2
E154752827. 3
E154752828. 4
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(1) (a) AT (b) (2) (a) ¥ E (c)
(3) (c) AW (d) (4) (d) #F (b)
Options:

615475258251
6154752826 2
E154752827. 3
E154752828. 4
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(1) (). (b) @M (c) (2) (). (e) 3 (d)
(3)  (a). (b) ¥ (d) (4)  (b), (a) = (d)
Options:

E1547525829. 1
E154752830. 2
E154752821. 3
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(3 (a). (b) &M (d) (4) (b)), (a) = (d)
Options:

E154752829. 1
E15475282300 2
6154752831, 3
E1547525832. 4
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(1) (a) A (b) (2) (b) 3 ()
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Options:

E154752833. 1
E1547528234 2
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(1) (a) 3T (b) (2) (b) 3 (c)
(3) (c) #AX (d) (4) (a) FX (e)
Options:

E1547525833. 1
61547525834 2
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Options:
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(1) (a). (b) IE (c) )  (a). () I @)
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Options:
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Options:
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Options:
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(3) (a). (b) 3 (d) (4) (d). (c) X (a)

Options:

6154752845,
6154752846,
6154752847,
E154752848.

[ N

Question Number : 112 Question Id : 615475730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AEH T 57 A7 IR BT3E EE ST F UH A F2 9o 1 |

(a) AR 7% JE g T |

(by S E T T AR IEEl 9129 5] WEg FE |

(d)  SEH AT FEE o TREE FEAE ST 9RET 3150 @S o HEE TS |

=l

(1) (a). (b) #AX () (2)  (b). (c) 9 (d)

(3) (a). (b) W (d) (4) (d). (c) X (a)

Options:

6154752845,
6154752846,
6154752847,
E154752848.

L I

Question Number : 113 Question Id : 615475731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR 1 UH HTHE HATHRIHR S0 T0E! 31 sardars T0H] F 1 TTaF F:E17 AFEA e L T8 1 |
{ﬂ} :ﬂjJtﬂa hI":IEQ_"J H_E i

{-h'. - Hf__ , -:_ , = -rr:I

(c) UM W e

(d)  HHIE T T

(1) (a) AN (c) (2)  (a). AF (b}
(3) (b) AW (c) (4)  (c) 3T (d)
Options:

61547525849 1
E154752850 2
E154752851. 3
B154752852. 4

Question Number : 113 Question Id : 615475731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR T TH ATHH ITHIFT S0 TEET 51 SanTdaTE T0E F 1 TTF FE17 S F2 1 9oh J |
(a) I T GSHI
(b) AU AT <A

(c)  UEME @ Aol

(d) TR 175 0]

(1) (a) 9F (c) (2) (a). W (b)
(3) (b) AX (c) (4) (c) AW (d)
Options:

E15475258459 1
6154752850 2
6154752851 3
6154752852 4

Question Number : 114 Question Id : 615475732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AEW I 9T E=E T LU AEE R 5 T 99 b |

(a) UEHl A 5 3EEE J9T AT |

(b)  TEHEI 3R WH AGEE 4 THEAT |

(c) AT T MEaE B 9181 |

(d) T SEE TR I ST

=he :

(1) (a). (b) AW (e} (2) (b). (c) JAW (d)
(3) {(a). (c) HX (d) (4) (a). (b) HX (d)
Options:

6154752853 1
61547525854 2
E154752855 3
E154752856. 4

Question Number : 114 Question Id : 615475732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR T IOHT T T4 F U SATEE 8 52 L 99T b |

(a) UEHT A 51 3SEE AT AT |

(b)  TWHEI R WH ATGEN HF HHEAT |

()  TTH T EEH FONA A1 |

(d) T SEE T " S

=he :

(1) (a). (b) AR (c) (2) (b), (c) AW (d)
(3) (a). (c) IAX (d) (4) (a), (b) T (d)
Options:

61547525852 1
E154752854 2
E154752855 3
E154752856. 4

Question Number : 115 Question Id : 615475733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT T SW1 OTE a1 9% - AEaEml, AT %2 1 97ad 1 |

e
L5

(a) HATFAR

(b) EIEEER

(c) HisTd

d) S

= .

(1) (a) AT (b) (2) (b) 3 (c)
(3) (c) I (d) (4) (a) FW (d)
Options:

B154752857. 1
6154752858 2
6154752859 3
61547525860, 4

Question Number : 115 Question Id : 615475733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT, 3T ST TS dT4h] 9% - AalEmsdl, JETH %2 1 9794 1 |

il
L5

(a) HATAA

(b) EIEEEL

(c) LIEIG]

(d) ==

e .

(1) (a) AT (b) (2) (b) 3 (c)
(3) (c) IR (d) (4) (a) FW (d)
Options:

BE154752857. 1
6154752858 2
6154752859 3
61547525860, 4

Question Number : 116 Question Id : 615475734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ft- 11 99 Ha8 @R Foi- 11T SEsEsar g9 330, 981 HaE Fiod F20 934 1 |

T -1 g - 11
(a) THTAIE (i)  STEETe 5
(b) TEEEA] (i) HHZAE
() THER (ii1) Tofem =me
(d) TTeEEE (iv) =W FTEETE

(1) (a)-(). (®-an). (e)-(1). (d)-av)
(2)  (a)-ai). (b)-(1). (e)-av). (d)-a1)
(3) (a)-(). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-v). (b)-(11). (e)-(111). (d)-(1)

Options:

154752861 1
E154752862. 2
154752863, 2
6154752864 4

Question Number : 116 Question Id : 615475734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B [ N, T B [T i N Ny 4
Hacf— 17 9mAm Fg8 A g=i- 11 7 aEmdsEssns 3ge 3T, el Had Filoq Fd 999 H |

Tl - 1 = - 10
(a) HHTFIH! (1) =EeT T
(b) HrERFAL (i) iz =
(c) THER (iii) Tefer HHe
(d)y TeEEE (iv) =mA E‘lﬂ?‘ﬁF

(1)  (a)-(1). (b)-(m). (e)-(m). (d)-(2v)
(2) (a)-tm). (b)-(1). (c)-(iv). (d)-(11)
(3) (a)-1). (b)-(iv). (c)-(1). (d)-(11)
(4) (a)-v). (b)-(11). (c)-(11). (d)-(1)

Options:



E154752861. 1
B154752862. 2
E154752863. 3
61547525864 4

Question Number : 117 Question Id : 615475735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- 17 TaRel AT @7 gei- 11T SFHEE FEE G0W e B9 3 6 004 Fiod 32 1 aeE

q |
T - 1 =1 - 11

(a) =S *HES T (i) THeAvs
(b) Ei. S FHEqEH (i) HAEETS
(c) THEEEA (iil) z2eft
(d) T =TT gEIg (iv) =TT
(1) (a)-(m). (b)-(1). (c)-(av). (d)-(111)
(2) (a)-(v). (b)-(). (c)-(m). (d)-(1)
(3) (a)-). (b)-(u1). (e)-(1). (d)-(1v)
(4y (a)-(i1). (b)-(1v). (c)-(1). (d)-(11)

Options:

E154752865. 1
E154752866. 2
E154752867. 3
E154752860. 4

Question Number : 117 Question Id : 615475735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fi- 17 faelt =it 3R gei- [13 S 9HaEE S9E 580 S 59 371 960 W Fod $2 1 aoE

|
el - 1 T - 11
(a) 9 wEES T (i) TFZATS
(b) 1. HITS FqE (i) TS
(c) TTEHEH (i) =z
(d) S e TG (iv) =39Th
F7

(1) (a)-(). (b)-(1). (c)-(w). (d)-(u1)
2y (a)-(v). (b)-(1). (c)-(1m1). (d)-(1)
(3) (a)-(1). (b)-(m1). (c)-(11). (d)-(1v)
(4) (a)-au). (b)-(av). (c)-(1). (d)-(1)

Options:

6154752865 1
6154752866, 2
6154752867, 3
6154752868 4

Question Number : 118 Question Id : 615475736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- 17 9% 1308 3095, AF Foi- (11 9% 94163 | e Heg F1od el a1 1 |

T 31 Tt 311

(a) A (i)  =3rEEs
(b) W (i) TR
() TEH (i) =995
@ wE (iv) TR
A

(1) (a)-(1). (b)-(u1). (e)-(m). (d)-(v)

(2) (a)-(). (b)-(1). (c)-(1v). (d)-{m1)

(3) (a)-(m). (b)-(v). (e)-(1). (d)-(m)

(4) (a)-(v). (b)-(i11). (c)-(11). (d)-(1)

Options:

E154752869. 1
B154752870. 2
B1547525871. 3
E154752872 4

Question Number : 118 Question Id : 615475736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- 11 9% 130% 30T AR F=i- 111 9% 9163 | ga Heg Fod el 512 1 |

e 31 g 311

(a) = (i) 1R
(b) W (i) FE

(c) TFA (i) 75
(d) s (iv) TS
TR

(1) (a)-(1). (b)-(u1). (e)-(11). (d)-(1v)

(2) (a)-(11). (b)-(1). (e)-(av). (d)-(111)

(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(iv). (b)-(i11). (e)-(11). (d)-(1)

Options:



E15475286%9. 1
B154752870. 2
B1547525871. 3
E154752872 4

Question Number : 119 Question Id : 615475737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tefi- 17 wts gefi =ige A G- 11T gatern, a0 Sg9 99063 | 981 5ot i %2 1 9o H |

T - 1 = - 10
(a) oI 9= (i)  TATTaeTTe Fel
(b) T Tt i (i) T fofFm aen
(c) HETE WA (i) 9= =T
(d) HaTEH AT (iv) TREE FHEE
(1) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(0). (b)-(i11). (c)-(11). (d)-(v)
(3) (a)-(11). (b)-(v). (e)-(1). (d)-()
(4) (a)-(1v). (b)-(11). (e)-(m1). (d)-(1)

Options:

6154752873 1
6154752874 2
6154752875 3
E154752876. 4

Question Number : 119 Question Id : 615475737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o, =% N . N [ "'. ! o~ =y N -
- 17 #5941 3g9 37 J=1- 11 T G0 FE1 Ja8 5863 | 920 Had $iad 2 1 sed H |

T -1 g - 11

(a) ©IF oA (1) =Eaee g
(b) T T (i) Tore TefFm o
(c) HETE " (i) = EEE
(d) =T A (iv) =AW FEE

P2

(1) (a)-(11). (b)-(1). (e)-(av). (d)-(1m1)

(2) (a)-(1). (b)-(1m). (c)-(11). (d)-(1v)

(3) (a)-(m1). (b)-(av). (e)-(1). (d)-(u)

(4) (a)-(v). (b)-(11). (e)-(m1). (d)-(2)

Options:

B1547525873. 1
6154752874 2
61547525875 3
E154752876. 4

Question Number : 120 Question Id : 615475738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- 11 2 EAT J98 A0 gai- 117 A 37 21 S0 991, Ja 9ed Hio 2 a3E | |

g - 1 g1 311
(a) T3 3R FEE 3F F4T i) FE I
(b)  =THI HE SIS FEETE T (i) =TS
(c) HE TEAEE Tl (iil) FEA
(d) AT FTIHAETE T (iv) A
Fe
(1) (a)-(i1). (b)-(1). (c)-(v). (d)-(111)
(2) (a)-(1). (b)-(i11). (c)-(11). (d)-(av)
(3) (a)-(1). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(v). (b)-(1). (e)-(m). (d)-(1)



Options:

6154752877 1
£154752878. 2
E154752879 2
6154752880, 4

Question Number : 120 Question Id : 615475738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt~ 1% St e o - 117 51 T 2t e S, gé e e Fot s A |

aefi - 1 T 311
(a) TS W TG ATF Bl i)  FE I
(b) =THT W AT FEEATE T i) s
(c) TE gEAETE Fem (iil) FEA
(d) AT FTIHAETE T (iv) T
(1) {a)-(i1). (b)-(1), (c)-(iv), (d)-(i1)
(2) (a)-(1). (b)-(111). (e)-(11). (d)-(w)
(3) (a)-(1m). (b)-(v). (e)-(1). (d)-(1)
(4) (a)-(1v). (b)-(11). (e)-(m1). (d)-()
Options:

B1547525877. 1
61547525878 2
E154752879 3
E154752880. 4

Question Number : 121 Question Id : 615475739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- 17 S 92 F99 @7 g=i- I3 3101 o Yas vm 9 | 92 0o e 32 1 9oE H |

T - 1 Tt 311

(a) W|iadma HAEH (i) |
{b} it e :': r {11} _", 5
(c) HIYAW o HWI =l (i) 7973
(d) TF TAEE (iv) =vsT @A

L T

(1) (a)-(m1). (b)-(v). (c)-(m1). (d)-(1)

(2) (a)-(iv). (b)-(ii1). (c)-(1). (d)-(11)

(3) (a)-(11). (b)-(1). (c)-(m1). (d)-(1v)

(4) (a)-(1). (b)-(11). (e)-av). (d)-(11)

Options:

E154752881. 1
E154752882. 2
E154752883. 3
E154r52884. 4

Question Number : 121 Question Id : 615475739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- 17 S 92 F99 @7 g=i- I3 3101 o Yas vm 9 | 92 0o e 32 1 9oE H |

T - 1 Tt 311

(a) W|iadma HAEH (i) |
{b} it e :': r {11} _", 5
(c) HIYAW o HWI =l (i) 7973
(d) TF TAEE (iv) =vsT @A

L T

(1) (a)-(m1). (b)-(v). (c)-(m1). (d)-(1)

(2) (a)-(iv). (b)-(ii1). (c)-(1). (d)-(11)

(3) (a)-(11). (b)-(1). (c)-(m1). (d)-(1v)

(4) (a)-(1). (b)-(11). (e)-av). (d)-(11)

Options:

E154752881. 1
E154752882. 2
E154752883. 3
E154r52884. 4

Question Number : 122 Question 1d : 615475740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- 17 ST i TRAE @ S 9gH 0 gei- 111 FEa FEE J399 U 59, Je 6

HI T2 1w H |

7=l - 1 gl - 11

(a) FHEEAT i) o=
(b) =AfFTEE (i) Tm

(c) HIET (i) Terorg o=t
(d) =momER (iv) T

E

(1) (a)-(m1). (b)-(v). (e)-(1). (d)-(m)

(2) (a)-(11). (b)-(1). (e)-(iv). (d)-(u1)

(3) (a)-(1v). (b)-(i11). (e)-(1). (d)-(1)

(4) (a)-(1). (b)-(m). (c)-(m1). (d)-(xv)

Options:

E1547525885. 1
E154752886. 2
E154752887. 3
E154752888. 4

Question Number : 122 Question Id : 615475740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



- 17 ST i TRAE @ S 9gH 0 gei- 111 FEa FEE J399 U 59, Je 6

HI T2 1w H |

7=l - 1 gl - 11

(a) FHEEAT i) o=
(b) =AfFTEE (i) Tm

(c) HIET (i) Terorg o=t
(d) =momER (iv) T

E

(1) (a)-(m1). (b)-(v). (e)-(1). (d)-(m)

(2) (a)-(11). (b)-(1). (e)-(iv). (d)-(u1)

(3) (a)-(1v). (b)-(i11). (e)-(1). (d)-(1)

(4) (a)-(1). (b)-(m). (c)-(m1). (d)-(xv)

Options:

E1547525885. 1
E154752886. 2
E154752887. 3
E154752888. 4

Question Number : 123 Question Id : 615475741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a)

(b)
{c)

(d)

TR

(1)
(2)
(3)
(4)

Options:

gl - 1
HTSET S5

{(a)-(11). (b)-(1). (c)-(u). (d)-(iv)
(a)-(1). (b)-(11). (e)-(1v). (d)-(111)
(a)-(i11). (b)-(iv). (e)-(1). (d)-(1)
(a)-(1v). (b)-(111). (c)-(11). (d)-(1)

61547525889, 1
E154752890 2
E1547525891. 3
B1547525892. 4

F a9 AT T - 11T 99 T30 a9 U S, TR FEE A $e Ao F |

Tt - 11
O e FRE
(i) =9 TTEE ST oo
(ii1) TeeT=RT =S

(iv) =men faern 997 9T

Question Number : 123 Question 1d : 615475741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tef- 11 ARTEETE 398 97 g=i- 117 92ff 3% 299 v8 A, 971 00 Fed T2 99 1 |

(a)
(b)
{c)

(d)

Fe

(1)
(2)
(3)
(4)

Options:

Tl -1
EIEGR L=

E‘EI .-FFJI T -r..-; Es

(a)-(11). (b)-(1). (c)-(m). (d)-(av)
(a)-(1). (b)-(11). (e)-(1v). (d)-(m1)
(a)-(1m1). (b)-(v). (e)-(1). (d)-(m)
(a)-(1v). (b)-(m1). (c)-(11). (d)-(»)

Tl - 11
@ far e g
(i) T T S faerm
(iii)| TererrT =3h

(iv) =T fae 391 9T



E154752889. 1
6154752830 2
61547525891 3
E154752832 4

Question Number : 124 Question Id : 615475742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% g4 AR gefi- 117 92t 3% Aq9 996, gei 0eE Fe F2 awE b |

gl - 1 o= - 11
(a) SERT FE G o s
(b) 3 GRF (i) ==
() dTEZ (iil) TFEm
(d) THTI T (iv) AR AATSTE
% :
(1) (a)-(1). (b)-(11). (c)-(1). (d)-(1v)
(2) (a)-(v). (b)-(m1). (c)-(11). (d)-(1)
(3) (a)-(1), (b)-(av). (e)-(1). (d)-(11)
(4) (a)-(m1). (b)-(1). (e)-(iv). (d)-(1)
Options:

51547525853 1
61547528394 2
61547525895 3
E154752896, 4

Question Number : 124 Question Id : 615475742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



% 39 AN TEi- 117 92t =7 398 9, et HeE e Fel s A |

7T - 11
(a) S EEGT (i) =1 s
(b) Sfwer @m= (i) =
¢ TEzg (i) TrEm
(d) THTH FEH (iv) SR B

(1) (a)-(1). (b)-(11). (c)-(m1). (d)-(av)
(2) (a)-(av). (b)-(u1). (e)-(u). (d)-(1)
(3) (a)-(11), (b)-(1v). (e)-(1). (d)-(111)
(4) (a)-(111). (b)-(1). (e)-(v). (d)-(11)
Options:

61547525892 1
E1547528894, 2
E154752895 3
B1547525896. 4

Question Number : 125 Question Id : 615475743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F- 17 fafus 99 o7 @R gei- 117 T8 vn aem, g8 HeE #od 32 1 9md | |

Al - 1 T - 11
(a) T (i) TewE e
(b) == (i) T TE
(c) TIE=H (111) EBEEST 4=l
(d) =™ EESE (iv) saTeT
?Tf! 2
(1) (a)-(11). (b)-(1). (e)-v). (d)-(1m1)
(2 (a)-(1v). (b)-(1m). (c)-(1). (d)-(m)
(3) (a)-(m1). (b)-v). (e)-(i1). (d)-(1)

(4) (a)-(1), (b)-(m). (e)-(m). (d)-(av)



Options:

6154752897 1
£154752898. 2
£154752899 2
154752900, 4

Question Number : 125 Question Id : 615475743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- 17 fafg v\ ww =m g=i- 117 78 U5 AE, 971 HeE F0d $2 1 99 1 |

Tl - 1 T - 101

(a) Tl (i)  Termn
(b) = (i) FET T
(c) TEHF| (1) FEIST 49
(d) == EEEE (iv)  sfraer e
(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

(23 (a)-(v). (b)-(111). (e)-(1). (d)-(m)

(3) (a)-(111). (b)-(iv). (e)-(1). (d)-(1)

(4) (a)-(1), (b)-(11). (c)-(1m1). (d)-(av)

Options:

E1547525837. 1
E154752898. 2
E154752899. 3
B154752300, 4

Question Number : 126 Question Id : 615475744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR 1 UH ATRH THHF] 3% Ag0 Ted-d@[m 38 A6 oid 9Hd H-

(1) A TEE, FEeAl, IR, T

(2) ANETS AWM, O, A1, AEaln

(3) AW dEH, AT, JEEa, g
(4)  HRETA JEH, @A, e, T
Options:

E1547523901. 1



E1547523902 2
6154752303 3
6154752304, 4

Question Number : 126 Question Id : 615475744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AR 1 UH HATHH THHH] 7% A0 Ted-ai-aM 80 ATH «%d 98 H-

(1) OTATA JEH, AR, IEAT, T

(2) AFAETA JMEE, Ji, J0A1, AEEa)

(3) ARHETA dEH, AT, Adied], Jieid

(4) OFHT dT8H, AEedl, Jiaih, AT
Options:

E154752301. 1
B154752302 2
6154752303 3
E154752304, 4

Question Number : 127 Question 1d : 615475745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

v §97 Tl Areasms T4 e -aEEE TREE S S AT |

(1) =9 FAel, S &0 IS FIE 1, 28 991, 518 @nat
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(3) 1.30.60792 (4) 20.952088
Options:

B15475239659 1
G154752970 2
6154752971 3
E154752972 4

Question Number : 144 Question Id : 615475763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A 7% T2 A 28] T 9% Tiase IrEvs 9 98 0918 5017

(1) 78 ¥idE (2) 45.8 9fawrg
(3) 2.62 s (4)  2.42 SfgFeE
Options:

E154752873. 1
E154752974 2
BE154752975 3
B1547523976. 4

Question Number : 145 Question 1d : 615475764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 12 9T (2) 13 9H=
(3) 14 FHET (4) 15 4dHTE
Options:

E154752377. 1
E154752978. 2
E1547529739 3
E1547523980. 4

Sub-Section Number: 3
Sub-Section Id: 61547535
Question Shuffling Allowed : Yes

Question Id : 615475765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



AR T (A ATFA F4 FLOE ATE Fd TEEE § AR Fehed] ofgl 96 TH 100 FEE HTE AHE
A |

T IEHET T2 F 2031 ThI ST | T 2031 a1l 1 3 9eE A B, See, 3, deaeel, U, §,
TEE AW S 9l fed® FE1 | 2T 90 W S 1 IR 29, TR T ;ﬁFmT AW,
FileAl AN FTAR A1 =% T54 B0 AW 958 Y29 0% Adied 9ol @ e 78 749 280 1 BT
F1 | @1 TEH] T54 1 37did, @8 1 T95Hl, 300 1 @eEiel A7 3lEd 1 gl REH], BT &l
o< TEH IWEH TRAYE g 02 9 09 41| G S T 9, 8, ¥ 3O 39 1 R g 3 T
T3 79 FE1| 9@ UE 5L AEE AN GAEE 92al ST | Selm-T8dl, TAl, J941, TEE | 56 1
‘W' Bt 1T T a9 aTedl g3 | G910 S A0 T WeE gEE 1A @ T erman | o o
T S T T T SR ST | O A L d S Y e 99w |

@1 IEHT T FEEE FE TR A T SR W R S w6 S0 =g A 8 S 5
AT Mgl T o9TEE FE1 | FAIE B9 L FJE FE A AP @ AR 98 35 90 6@,

A, ‘g AW E e, O ToW B9 IR T FeEE L ATEd 3R S S| FA
§ATE ATE | §9 IEH e giagd A3 e | 9iFd WEE [ 9Edl wEd w0 9fE AHEE AaE

Sub questions

Question Number : 146 Question Id : 615475766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o T T HE1G 9iell A ATSE 9 51 3R ATSIS { SISl ?

(1) G 2y HA I
(3) = ol 4y ‘T'1
Options:

51547523981 1
E1547523982 2
6154752952 3
E154752984, 4

Question Number : 147 Question Id : 615475767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TEHT T T AETE TSRS 8] w10 ST s ?

(1) 3 (2)y ®
(3) T (4) T
Options:

51547523985, 1
E1547523986. 2
6154752957, 3
E154752988. 4

Question Number : 148 Question Id : 615475768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o9 9EET T T g1 g L AR ASTS SEE d 8 GHERE 7

(1) q (2) S 3T
(3) b (4) d
Options:

6154752959 1
E154752990 2
E154752991 3
B154r52992 4

Question Number : 149 Question Id : 615475769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FERICIRIE R e e | A

(1) AT (2) '
(3)  TEIE (4) HIH
Options:

E154752993 1
6154752994 2
61547523985 3
E1547523936. 4

Question Number : 150 Question Id : 615475770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o< I 21 A 9EE T e A

(1) 2 (2) 3
(3) 4 (4) 2
Options:

61547529371
6154752998 2
E154752999 3
E154753000, 4

Question Id : 615475765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension



AR T (A ATFA F4 FLOE ATE Fd TEEE § AR Fehed] ofgl 96 TH 100 FEE HTE AHE
A |

T IEHET T2 F 2031 ThI ST | T 2031 a1l 1 3 9eE A B, See, 3, deaeel, U, §,
TEE AW S 9l fed® FE1 | 2T 90 W S 1 IR 29, TR T ;ﬁFmT AW,
FileAl AN FTAR A1 =% T54 B0 AW 958 Y29 0% Adied 9ol @ e 78 749 280 1 BT
F1 | @1 TEH] T54 1 37did, @8 1 T95Hl, 300 1 @eEiel A7 3lEd 1 gl REH], BT &l
o< TEH IWEH TRAYE g 02 9 09 41| G S T 9, 8, ¥ 3O 39 1 R g 3 T
T3 79 FE1| 9@ UE 5L AEE AN GAEE 92al ST | Selm-T8dl, TAl, J941, TEE | 56 1
‘W' Bt 1T T a9 aTedl g3 | G910 S A0 T WeE gEE 1A @ T erman | o o
T S T T T SR ST | O A L d S Y e 99w |

@1 IEHT T FEEE FE TR A T SR W R S w6 S0 =g A 8 S 5
AT Mgl T o9TEE FE1 | FAIE B9 L FJE FE A AP @ AR 98 35 90 6@,

A, ‘g AW E e, O ToW B9 IR T FeEE L ATEd 3R S S| FA
§ATE ATE | §9 IEH e giagd A3 e | 9iFd WEE [ 9Edl wEd w0 9fE AHEE AaE

Sub questions

Question Number : 146 Question Id : 615475766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o T T HE1G 9iell A ATSE 9 51 3R ATSIS { SISl ?

(1) G 2y HA I
(3) = ol 4y ‘T'1
Options:

51547523981 1
E1547523982 2
6154752952 3
E154752984, 4

Question Number : 147 Question Id : 615475767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TEHT T T AETE TSRS 8] w10 ST s ?

(1) 3 (2)y ®
(3) T (4) T
Options:

51547523985, 1
E1547523986. 2
6154752957, 3
E154752988. 4

Question Number : 148 Question Id : 615475768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o9 9EET T T g1 g L AR ASTS SEE d 8 GHERE 7

(1) q (2) S 3T
(3) b (4) d
Options:

6154752959 1
E154752990 2
E154752991 3
B154r52992 4

Question Number : 149 Question Id : 615475769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS U TR 9EE = 3 e TR e

(1) AT (2) '
(3)  TEIE (4) HIH
Options:

E154752993 1
6154752994 2
61547523985 3
E1547523936. 4

Question Number : 150 Question Id : 615475770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o< I 21 A 9EE T e A

(1) 2 (2) 3
(3) 4 (4) 2
Options:

61547529371
6154752998 2
E154752999 3
E154753000, 4



